


(b) Who

(c)

A9/52

(2)

wrote the book, Reinventing
Government : How the Entrepreneurial
Spirit is Transforming the Public Sector?
(Christopher Hood and P. Hoggett/
David Osborne and T. Gaebler/
Luther Gulick and L. Urwick)

(Choose the correct answer)

Reinventing Government How the
Entrepreneurial Spirit is Transforming
the Public Sector SEI (G 46«1 wffwe 2
(@FE 2o o B, 20 /b guof
15 S N B I s S e
CIEIEED)
(o Teahl wifie, Bferaar)

The ‘Hawthorne Experiments’ are

associated with the

(Bureaucratic theory/Human
relations theory/Scientific
management theory/Principle of
hierarchy).

(Choose the correct answer)

‘Hawthorne Experiments’ {#24 %9

Gow 2
(SICTETOIEs  ©g/aFam ek ©g/
I AT ©g /@ Tife)

(e Tedch qife Sferear)
( Continued )

(3)

(@) Whicih of the following
classification of hierarchy’r’

(Pay hierar chy/Area
Rank hierarchy /. jop-

IS not a

hierarch v/
task hjerarchy)

(Choose the correct answer)

Wﬁﬂzﬁmﬁzﬁwwﬁﬁw e

() Write 4 major Principle of delegation

SR 9B 37 RS forey

(9)  Which of th
e followi . ;
by Dwight Waldo» ng books is editeq

(Towards o
tion :' The anowbrook Pe

(Choose the correct answer)

A9/52
( Turn Oper )
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()

0}

A9 /52

(4)

ST (I 2% T2D AT AN FffRe 2

(Towards a New Public Administra-
tion : The Minnowbrook Perspective/
Public Administration i) a
Time of Turbulence/Administrative
Behaviour/ The Study of Administra-
tion)

(% Teacn! AR Sfere)

The Chief Executive of India is
(Presidential type /Parliamentary
type/Collegiate type).

(Choose the correct answer)

SRS I SR 2
(SIS 43 /7T /2] 4e0)

(um T iR Sferean)

Write a  principal necessity of
Independent Regulatory Commission’.

“yor R ST BT 0 el fors |

Give a suitable definition of ‘public
administration’.

GG -2’ 9T BoRe 5%l il 44 |

({ Continued }

e

(S)
2. Answer the following questions :

O IS e o

(a) Write any two demerits of Independent
Regulatory Commission.
g FEEe S & @i 161 o fers |

{b) Write any two hindrances of delegation.
SHIAH & Glel 1h1 afeme for |

() What is ‘entrepreneurial government’
in the concept of New Public
Management?
T CEIR-IREIFHE {FT® Sl 5391 2

(d) Write any two demerits of hierarchy.
St Mo { @ e o1 @ o |

(e) What is New Public Administration?
T CEIP- 2P [ 2

3. Answer in brief (any foun :

5y ed o (R el wif<en)

{a) Explain the scope of  public
administration.
G ~2PIS AP I <51 |

A9 /52

{ Turn Over )

2x5=10

5x4=20




4.

(b)

(c

@

(e)

Answer the following questions :

(6)

Discuss briefly on flimits of span of
control’. Do you find any changes in the
limits with application of information
and communication technology?

e~ Ty evme o3t weasen w4
O SIF QM eRfed case Siacs e
ARES A R AfRase ot e 2

Write the merits of Human Relations
theory.

TFRIE o OgH BPTRR fors |

Write the important functions of the
Chief Executive.

T30 PR 3o SRR forsn |

What is politics-administration
dichotomy? Discuss the contribution of
Woodrow Wilson in this dichotomy.

JEAO-2MPFT f-Remn T o2 @
fa-faereme Ty’ Cxetore SR e 4 |

OFq 29T Yad ferd

(@)

A9/52

Critically examine the concept of good
governance.

3]-eMPTE {I99TCHR SIS “IR51 <61 |

10x4=

40

10

{ Continued )

(b)

(©

A9/52

(7))

Or / <1231

Discuss the evolution of public
administration as a discipline. Why is
the study of public administration
important?
QO R R G- @ wRer
CABA | AF-GHPE SR [
aeg7{?

What is legal-rational authority?
Discuss the bureaucratic theory of
administration.

see-gfefs wdw [

TSI ©GLh! BT 41 |
Or / «1231

What is time and motion study?

Examine  critically the  scientific
management theory of administration.

aRIMOE

3+7=10

T o AAfeq SgEa @2 aeEe e
JIF] SECOE HICEBSE ARV 0 |

What are the differences between
centralization and decentralization?
Which principle do you prefer in a

federal administration—centralization
or decentralization? Why? 5+5=10
{ Turn: Over )

7+3=10

3+7=10







